How do global employment patterns vary?

1) What is ‘employment structure’? ______________________________________________

__________________________________________________________________________
	 
	Primary %
	Secondary %
	Tertiary %

	India
	72
	12
	16

	Brazil
	38
	26
	36

	USA
	2
	23
	75


3) Add in the correct labels to your triangulation graph below. Look at the board to help you.

4) Using the values above fill in the triangular graph below. Always go primary, then secondary and finally tertiary. Bangladesh & USA have been done for you
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5) There are three countries already on the map. You are to write down their employment structure then explain whether they are LEDC, MEDC, or in between (NIC)?
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